Question C1.
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respectively.

(i) Use the Routh criterion to determine the range of positive proportional
controller gain K for which the closed loop system is stable.

(if) Suppose that we replace the proportional controller by a proportional-
integral controller with transfer function K(1 + ). Use the Routh
criterion to determine the range of positive K for which the closed loop

system is stable.

(ili) From your observations in (i) and (ii), can you (briefly) comment on
the effect of adding the integral control with respect to system stability
and step input tracking?






Page 1 of 1

